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NO. O 3.700
NO. 1 20.000 20.000 20.000 3.700 3.700 74.00
NO. 1 + 5.000 5.000 5.000 5.000 3.700 3.700 18.50
NO. 1 + 6.411 1.400 1.400 1.400 3.140 3.420 4.79
NO. 1 + 19.700 12.750 12.750 12.750 3.140 3.140 40.04
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NO. 0 1.3 0.5
NO. 1 20.000 1.0 1.15 23.0 0.4 0.45 9.0
NO. 1 + 6411]  6.400 1.0 1.00 6.4 0.2 0.30 1.9
NO. 1 + 19.700| 12750 0.9 0.95 12.1 0.3 0.25 3.2
& 39.150 415 14.1
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NO. O 0.8 4.6
NO. 0 + 5.000 5.000 5.2 3.00 15.0 6.6 5.60 28.0
NO. 0 + 10.000 5.000 5.6 5.40 27.0 6.7 6.65 33.3
NO. 0 + 15.000 5.000 5.2 5.40 27.0 6.8 6.75 33.8
NO. 1 5.000 5.4 5.30 26.5 6.2 6.50 325
NO. 1 + 10.000 10.000 5.2 5.30 53.0 7.6 6.90 69.0
NO. 2 10.000 2.1 3.65 36.5 6.6 7.10 71.0
NO. 2 + 10.000 10.000 2.5 2.30 23.0 4.2 5.40 54.0
NO. 3 10.000 6.6 4.55 45.5 6.5 5.35 535
NO. 3 + 5.000 5.000 29 4.75 23.8 5.8 6.15 30.8
& 65.000 2773 405.9
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RC-40 t=100mm 65.0x3.0-1/2X2.6x4.1 = 189.7 m2 189.7
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(39.7+64.5+66.0) /1.10 = 154.7 = 154.7
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